Question bank
Cost accounting
B.com part-2

Unit -1

1.“Costing is the techniqgue and process of
ascertainment of cost”. Explain this statement and
nature of cost accounting

2. Differentiate between Financial accounting and Cost
accounting.

3.What are the elements of cost? illustrate different
components of cost.

4. Explain different methods and techniques of Costing.

Unit-2
5. Define labour turnover. Enumerate three methods of
measurement.
6. Define overheads. Give their classification and
explain fixed ,variable and semi variable overheads in
detail.
7. Explain different methods of absorption of overheads.
also explain their relative advantages and disadvantages.
8. Explain the difference  between  allotment
apportionment and absorption overhead.

Unit-3
9. Differentiate between a cost sheet and production
account. Draw a complete specimen format of a
comparative cost sheet.



10. What are the main features of unit costing method ?
Name such undertaking to which it is most suited

11. What is meant by operating costing? Prepare a
transport operating cost sheet with imaginary figures and
discuss the various items included in it.

12. explain the main objects of operating costing? What
Is the difference between absolute tonne kilometre and
commercial tonne kilometres ? Explain with example.

Unit-4
13. What is a contract account? Discuss in brief the
various items appearing on debit and credit sides of a
contract account. lllustrate your answer by taking an
Imaginary example.
14. What do you mean by job costing? discuss the main
features and the procedure of job costing.
15. Define process costing? Describe the general
principles of this type of Costing and give its salient
features. To which Industries is this method applicable?
16. Explain normal wastage , abnormal wastage and
abnormal effectives. How should these be treated in
process accounts.

Unit-5
17. Define standard costing . Discuss the application,
advantages and limitations of the technique of standard
costing.
18. Explain and illustrate the following variances:

a. Material Price variances
b. Material usage variance



c. Material mix variance

d. Material yield variance

19. What is marginal costing . Give its significance and
limitations.

20. Differentiate marginal costing and absorption costing.

How is is marginal costing statement prepared?
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Practical Questions

Unit-1
(Element of cost and Material control)
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Prepare a statement of cost from the following trading and profit and loss ace

the year ending 3 1st March, 2009 :

:ﬁv

31 W, 2009 ® GATG €1 A1) a4 % AR ud - @ @ e £
Aam Fif

Rs. i

Opening Stock : Sales 2,0

Matenals 12,000 Closing Stock :

Finished goods 40,000 Materials 2(
Purchase of Materials 1,20,000 Finished goods 5(
Direct Labour 30,000
Cost of Moulds 3,000
Salary of factory managers 1,000
Machine depreciation 800
Gross Profit c¢/d 63,200

2,70,000 2,70
Salaries : Gross Profit b/d 63.
Office 9,000 | Interest from bank
Selling 6,000 | Dividend received
Insurance: Office premises 1,000 | Rent Received
Godown 800
Director’s fees 2,000
Telephone Charges 700
Showroom expenses 1,200
Expenses of delivery vans 1,500
Preliminary expenses 2,000
Interest on debentures 700
Market rescarch expenses 600
. Underwriting ommission 600
Net profit ¢/d 39,000
65,100 65,

)

Answer : Cost of sales Rs. 1,59,600 and Profit Rs. 40,400.]
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The following information is supplied to you in respect «
VUZT ) U g & grasy 1 snue Prefesftad geen s R
Re-order Quantity = 720 Units

Re-order Period = 3 to 5 Wecks.

Maximum Consumption = 180 Units per week

Normal Consumption = 120 Units per week

Minimum Consumption = 60 Units per week

You are required to ascertain (31T9eh! JTd AT 2) -

(i) Re-order Level; (ii) Minimum Stock Level; and |
Level.

/-\ -~ - —_
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l1fhjc following information regarding COAL is obtained from the stores of a

actory. .

g%&m-ﬁ%m\ﬁmﬁmﬁmmmg :

August, 2009 '

“Opening Balance : 200 tonnes

Issued on Requisition No. 273 : 57 tonnes

Issued on Requisition No. 285 : 83 tonnes

Received from Supplier by Challan No. 74 of August S, 2009 : 120 tonnes.

The supply was expected on this date.

8 Issued on Requisition No. 341 : 92 tonnes

12 Issued on Requisition No. 364 : 30 tonnes

17 Received from Supplier by Challan No. 98 of August 17, 2009 : 100
tonnes; The supply was expected on this date.

24 Issued on Requisition No. 428 : 69 tonnes

30 Received from Supplier by Challan No. 171 of August 30, 2009 : 125
tonnes : The supply was expected on this date.
Received back Credit Slip No. 37 : 85 tonnes.

31 Issued on Requisition No. 483 : 85 tonnes.

Examination by the Stock Verifier on August 26, 2009 revealed a shortage of

5 tonnes.

The maximum level of stock of coal permissible at any time is 300 tonnes

and the minimum 50 tonnes. The Ordering Level is 100 tonnes. Draw up the

Bin Card (No. 23) for coal with all the necessary details showing the

transactions in August, 2009.

(@ rafyy e 1 sAfieran Wi R 300 &4 4 50 27 Tiihd | AW

W 100 4 R | 30T, 2009 % o5 Saws aghi i REICESEIREE

FE (4. 23) Faw Hifer 1)

[Answer : Balance of Coal 209 Tonnes|
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Mustration 25. V. Limited is the manufacturer of picture tubes for T.V.

Dcu;:S of 1ts opgr:mo%s during the year 2008-09 are as follows :

fran 2qa @91 &1 2008-09 a % FHEFE § IH B

fferfiad @1
Ordering Cost Rs. 100 per order
[nventory carrying cost 20% per annum
Cost per tube Rs. 520
Minimum usage 50 tubes per week
Maximum usage 200 tubes per week
Normal usage 100 tubes per week
Lead time to supply 6-8 weeks

25.

You are required to find out following information :

(1) Economic order quantity.

(2) If the supplier is ready to supply the required quarterly consumption of
units at a discount of Rs. 5 per unit, is it worth accepting ?

(3) Re-order level.

(4) Maximum level of stock.

(5) Minimum level of stock.
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The following is the record of Receipts and Iss
factory during the week ending 7th May, 2009.

@ Rs. 10 per tonne.
T @M § 7 7%, 2009 H! GHTH §T GHTE % foig
gray | frafefiaa faatu 2 | s 919 10 8. FT R

1. Issued 60 tonnes.

2. Received 120 tonnes @ Rs. 10.10 per tonne.
3. Issued 50 tonnes (Stock verifier reveals a los:
4. Received back from work order 20 tonnes ori;

per tonne.

5. Issued 80 tonnes.

6. Received 44 tonnes @ Rs. 10.20 per tonne
7. Issued 66 tonnes.

Prepare stores ledger account on the basis of :
{ag First In, First Out Method; and

b) Last In, Fix;st Out Method.

. o WTITEIN DA a) - ¥ N L
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A timber merchant purchased 12,000 ¢ 0, timber lops on el Se
5008 @ Rs. 10 per et and stored them in hig timbe vard [or six mo
seasoning. In the lit‘nlwr yard the following items of ¢;x|)(°|;:.(-;. were |
during the period ‘.\t seasoning :
% OHY ® i A1 R, 2008 @) 12,000 Y1 et bl b a2 100
g2 ) Ul aun i ard i s i L s e o) 3 oed i gy
Rafosfaa ws i nQ
(a) Rent of the yard (arca 3,000 sq.N.) @ Rs. 300 per month,
(b) Salaries of S watchmen @ Rs. 120 cach per month,
(¢) expenses for maintenance, lighting ete. @ Rs. 200 per month,
(d) Annual share of general overhead expenses of the business Rs. 3,000
(¢) Insurance charges for the logs (o be scasoned @ 1% on the valu
un-scasoned logs for the period of scasoning.
50% of the floor area of the yard has been sel apart for scasoning ol
and the remaining floor arca for stacking scasoned timber. 1Loss in vo
logs due to seasoning 10%. Calculate the selling rate of the scasoned
cubic ft. to the nearest rupee on Ist March, 2009 so that 20% profi
cost may be carned.

TE H 50% STFS ehel o @™ & fose Weh foran siran @ awr 9 A
@St e § TEA o o weges e sirer @ | alareran 3 s @izl & w1
10% | 9w @zl o1 i wm ge fosnar 0 (Rerean &, @ek) 1 s, 200¢
ST, ATfeR BT W 20% @17 TR B s wd |

el .. . 11 . t A Nnar

Unit-2
(Labour control and Overhead)

217,



The following information relates to the personne
month of Apnl, 2009 :
Number of workers on April 1. 2009
Number of workers on April 30, 2009
Number of workers who quit the factory in Ap
Number of workers discharged in April., 2009
- Number of workers engaged in April, 2009
(Including 120 on account of expansion schem
Calculate the labour turnover rate and equivalc

Rl =2 5 fafirs farfert & ereneff anfifes =2 P

- f rn £2e - - -———
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A worker takes 9 hours to complete a job on dai
scheme of payment by results. His wage rate is Rs
cost of the product is Rs. 8 and the overhead are

direct wages. Calculate the factory cost of the prod
(a) Piece work plan (b) Rowan Plan; and

U A AFHEF qegll W HE U HE H 9 g2
A1 T 6 HUE T & | JHehT Ufd =var Aerglt 1.50 %. 2,
3N 3UfeTa Y& T Heigll 1 150% 2 | 318 hl 1
3=AId F1d it :

() FEGERISAT;  (9) U AL a0
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‘In a factory 2 workers A and B produce the sar
material costing Rs. 100 each. The normal wage r
of them. They are paid bonus according to Rowa
rate of wages per hour with the help of following i

TF FRE@H U 37 qUT 31 Aok Teh & TR ) g |
3.2 8 U S8 31 1 Fmior ot 2 | ST aifirent & fon

g F1 TAH USA ST o S=aia o sman g |
T 2 HE FIE

Particulars Worker A
Time Allowed 40 hours
Time Taken 25 hours
Overhead rate per hour Re. 1

Factory Cost Rs. 193.75

30.



19 JUU = — s . v — l ; y : ‘ . .
"4 Y are two service departments with respective
X an

3000 and Rs. 2,000 of overheads which are to be apportior
Rs. 1¢:C departmental basis on the basis of percentages given in th
sern

o a7 Q) G A9 @ 3R 37k Iuftsma & Wire Fawr. 3,000 .
%ﬁﬁ%ﬁﬁaﬁﬁﬁnﬁuﬁmﬁ% AR R 1=<0ar faurfr anyg
AT el)

Production Departments Service
Department A B G
% % %
X : 30 40 20
Y 30 30 20
Total overheads 4,000 4,500 3,500 3

Find out the total overheads of production departments A, B a

-’th:total of A,Band C being Rs. 4,000; Rs. 4,500 and Rs. 3.5
before distribution.

Y, & 3o e forumi & o 3ufems 7= v 3 AR



Calculate the machine hour rate from the following data :
mefA woer 2z ot o i

Machine cost to be depreciated: Rs. 20,000

Life : 10 years (straight line depreciation)

Departmental Overheads :

Rent Rs. 5,000 pe
Heat and Light Rs 2,000 pe
Supervision Rs. 8,000 pe
Area of floor space :

Department 7,500 Sq.ft.
Machine

250 Sq.ft.
Annual cost of maintaining stand-by equipment : Rs. 150;
2,000 (1,800 hours on production and 200 hours on s
considered as productive time): Power consumption : Re. 1
Indirect labour (One workman) is required to give full time
during setting and adjusting time. During production time
his work ti(t)ne to the machine. The wage rate is Rs. 3
consumes 30 per cent of power during setting and adjusting,
YT I (ww)ﬁwmmaﬁﬁzwaﬁtm%@ﬁ%
W 98 391 1/3 G 39 7 o feraran R | wegh fr 2w 3 %
A0 W= 3veht w1k 1 39 e 2
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i\ machine costing Rs. 28,700, excluding instaliation cost
" anticipated life of 10 years with residual value of Rs. 500.
straight line method. From the following particulars;,
the basis of anticipated working hours :

(i) Rentand Rates for the factory is Rs. 6,000 p:r annum and 10% of the effective
area is occupied by this machine.

(ii) Insurance for this machine is Rs. 450 per annum,

(i) Repairs and maintenance for the whole factory for the year is Rs. 2,000: 25%
of this amount relates to this machine. .

(iv) Co(r)lsumable stores, etc. attributable to this machine for the whole year is Rs.
110.

(v) Total of production services is Rs. 5,000: 20% of this amount is applicable to
this machine.
(vi) Power cost is Rs. 0.50 per working hour.
(vii) The year contains 250 working days of 8 hours each but it is anticipated that
the machine will remain idle for 20% of this time.
W w3, forashl e 28,700 . 8, feH 98I =19 % 300 %, afifed 728 €, #
Sffaq 1% 10 99 991 3G9 o 500 F. €| T8 WS T UG R ira foran s
81 77 e e st shrdsies Tuet 3 SMUR R FUf-Sv2T-33 1 i ;
(i) Fw@m = frrn gar 2 6,000 %. ST G & qoT EFR &3 F 10% T 36 7T
1) 39 £ 450%. %1
tii:) gﬁﬁmgtwﬁaﬁmaam & T 2,000 F. 277 FC 5aH & 25% 36 7eA
| grafrig 3|
iv) St 7efi= o QR ad 3 3o greft 6 110.%. A g
V)) gmmmﬁtgni 5,000 %, =99 g /i | 20% gwﬁwﬁm@a%t
vi) WIfth 0.50 W qoe | .
vil)ad § 250 w1 feag & qur ufafea 8 g &/ d ; gty vEn 3AE ? o ang @
20% 99 FHRER q9g B |

of Rs. 300 has an

It is. depreciated on
compute machine hour rate on

Unit-3
(unit costing and Operating services )
33.
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From the following particulars, prepare a cost sheet showing the
cost er tonne for cach of the two period :

21 st § @ 5eis ¥ fore 97 29 g

§QQ33 BT q;;ﬁ arnsa
Three months endec
30 June, 2009 30 Septes
Rs.
Raw Matenials 54,000
Productive Wages 1,08,000
Administrative Expenses 18,000
Taxes and Insurance (Factory) 1,125
Light and Water 1,500
Direct Expenses 13,500
Depreciation (Factory Assets) 3,000
Rent (Factory) 2,250
UnproductiveWages 45,000
Factory Repairs 4.500
2.50.875

& The finished goods produced in two quarters were 9,000 and 12.

. respectively.

per tonne.|

(3 feifei 4 #0991: 9,000 12 ,000 < 1T 391 ga71 )
Answer : (a) Cost for the q
f tonne. (b) Cost for th

uarter ending 30 June, 2009 Rs
€ quarter ending 30 September, 2009
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35

From the following particulars, you are re uired to
bricks manufactured in May, 2009 showicxllg the Co% rteE
(1 unit = 1,000 bricks).

(Frfefad foamor & s o, 2009 | Ieaifea 247 % fow @
ﬁmgﬁﬁémammﬁm%l(@mﬁﬂ,oooézq

Materials . Coal Rs. 63,000; Stores Rs. 30,000
Royalty : Rs. 11,000
Labour cost . Bricks-making Rs. 1,00,000,
Sand digging Rs. 30,000
Stock §opem'n ) : 2,00,000 bricks |
Stock (closing : 6,00,000 bricks

74,00,000 bricks were manufactured during the month an
were sold at Rs. 55 per unit. Works on cost is 25% of pri
oncost is 10% of works cost. The Stocks were valued at
1,000 bricks as the production for the month of May, 2009

g & 74,00,000 £2 It 1 ¢ 3R 55 %. gfd TR 5 few
&t 7 | FREE IufeE 9@ @i W 25 fawd @ 9
BT W 10 Sferd 2 | w2 1 qediA 9fd 1,000 521 < fewme 3

FmwfFag, 2009 F 9re d 3= g2A11)



- S vt e v per sUnING |
following are the balances of impersonal ledger of colli
The 0 o the month of April, 2009, e e

m' i, 2009 F WA H UF Frw w0 ) s e ah & B wen i
g: - Rs.
Coal Production Department

Wages paid 1,11,120
Stores used 5,400
Repairs and Renewals 17,380 -
Stable Expenses 5,860
Timber used 9,300
Rent, Rates and Taxes 5,620
Depreciation 7,620
Administration expenses 17,700
Sales of Coal - 12,100 tonnes 2,05,700

Of the stock of coal 6,900 tonnes were sold at 1st April, 2009 to the Coke
Production Department at Rs 10 per tonne.

Coke Production Department Rs.
Raw material used 6,300
Wages paid 31,000
‘Repairs and Renewals 20,800
+Salaries and general charges 18,120

‘Sale of Coke-4,800 tonnes 84,000
of by-products 13,620
stock of Coal at 1st April, 2009 was 7,000 tonnes valued at Rs. 10 per
and at 30th April, 2009 3,000 tonnes valued at Rs. 12 per tonne. The
of Coke at Ist April, 2009 was 2,000 tonnes valued at
25 per tonne and at 30th April, 2009 1,900 tonnes valued at Rs. 28 per
. The total production at the colliery was 15,000 tonnes of coal and
,700 tonnes of coke.
separate Production Accounts for the Coal and Coke Departments
showing the cost of cach item of expenses per tonne of coal and coke
ively.
1 33, 2009 B F7S F1 =% 10 %. %a 23 F fewma & q=ifea 7,000 77 @1 qen
30 ¥, 2009 F 12 5. 9 z3 F frema A qewifEa 3,000 23 @11 1 31¥4, 2000
BB w1 = 25 5. 9 23 % frem A qeifea 2,000 25 @ am 30 3w, 2009
28 %. Wfa 7@ F feoa @ gevitea |.9ooam|mi§amaqaﬁq@;
000 23 I FIE F 4,700 Z3 41| u
R ot i 2 *ﬁlm.aﬁu@samm%wiﬁ

af naw fames o 0
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J.P. Transport company supplies the following details in respect of ,

ﬁ:ﬁfﬁ%@maﬁmmaammm

Cost of truck Rs. 9
Estimated life 10
Diesel, oil, grease Rs. 15 per trip each
Repairs & Maintenance : Rs. 500 per m
Driver's wages Rs. 500 per m
Cleaner’s wages Rs. 250 perm
Insurance Rs. 4,800 per
Tax Rs. 2,400 per
General supervision charges Rs. 4,800 per

Tt cﬁl truck carries goods to and from the city covering a distance of 5
~€ach way.
on outward trip, freight is available to the extent of full capacity

urn 20% of capacity.

Suming that the truck runs on an average 25 days a month, work out
Operating Cost per tonne-km. ‘

Rate per tonne per trip that the company should charge if a profit o
on freight is to Ee earned.
e ¥ U a1 50 forrft. gl g ST @ st ary 2 1)
ﬁgmntgﬁ &A1 Tk STesY & Yl T9H! 120 H shae &l 1 20% |

%?Emi;aﬂvmzsﬁqam%,ahml .
& R T 50% o T 2 4w R 6 s 2 e it e o T
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. Work out in the appropriate cost statement from, the unit cos

38

kilometre for the year 2008-09 for a fleet of passenger b
Transport Company. The following figures are extracted fron
the company for the year 2008-09.

3 Passenger buses cost Rs. 1,00,000, Rs. 1,80,000 and
respectively. Yearly d(;epreciation of8 g;hicfleg is 20% of the
repair, maintenance and spare parts : o of Depreciation.

qg;p ' mﬁmﬁgmgﬂmaﬁﬁ%l 2008-09 79 3
fradie Tt ond fean & fou g faawr w3 9153 | Feafefaa 3

| &1 BITd eI HHI: 1,00,000; 1,80,000 F. AT 2,20,0(
m;rfgau@mmm 20% 2 | a1 HOHA, STRET & G |
0% = |

Wages of 6 drivers Rs. 800 each per
Wages of 3 conductors Rs. 600 each per
Yearly rate of Interest 6% on capital

Rent of 3 garages s. 200 each per1
Manager's salary s. 1,000 per mor
Office establishment Rs. 1,000 per mon
Licences and taxes @Rs. 2,000 every si;
Realisation of sale proceeds

of old tyres and tubes @Rs. 2,000 every si>
Diesel @Rs. 3 per litre for ey

- §.- &% s ' P "N 4NN ~

150 Passengers were carried over 40,000 kilometres during the ye



L rran Co. owns a fleet of 10 taxies each costing
Amng;]ss lz)a(;rxtnanage:r to whom he pays Rs. 3,000 per month
e hg gets Rs. 2,500 per month. In addition there is o
\1{5 1.000 per month, a mechanic at Rs. 2,000 per mon
Rs. 4,500 per month in total. The taxies have been insurec
The annual tax is Rs. 3,000 per taxi. For each taxi there
paid Rs. 1,150 per month in addition to 50 paisa |
passengers). Annual repairs may be taken @ Rs. 7,500 pe
of the taxi may be taken at 2,00,000 kms. A taxi runs in a
a month of which 30% empty. Petrol consumption is or
@Rs. 14.00 per litrek.m Oil and sundries are Rs. 20 per 100
running taxi per km. ‘
gafsmmu% % g™ 10 2fFaai 2, y&is &l @rTd 2,00,00
3,000 %. Sfd W& T Th WIS 2,500 &. JfqHTE W TE@1 g3
| foreft F9ET: 1,000 %. ©F 2,000 %. Ufd A@ % T

a9 BNd 14.00 ®
frorfiet ut 20 . @« BId © | 2o < ufd for . Y. @
Unit-4

( job and contract costing and
process costing)
39



7. The IOLOWINE ATt WC particulars relating to (he Cons|
the vear ending 31st December, 2009 : ‘

(it FT 31 TR, 2009 1 o 81 ard o
wafa )

Rs. o
Work-in-progress 1.40,000|Cost of extra work
on 1.1.2009 (excluding Cash received upto 3
Rs. 8.000 and Estimated Materials in hand on
Profit credited to P.& L. a/c) Plant issued to contr:
Materials purchased 1,80,000|Plant used on site du;
Wages 1,70,000]for 10 month)
Electrical fittings 20,000
Establishment charges 72,000
Contract Price
gincluding extra work) 6,00.000

 Depreciation of plant is to be taken into account @ 1(
.. Contract Account.
| W T BTE 10% ATk sh1 ST H ST S E | 3 @

40.
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The following particulars relates to a contract undertaken
Engineers .

= F1 0 B 2 o T 3% @ wrafg fraoon sy g #
Rs

\aterials sent to site
Labour paid

Plant mnstalled at cost
Direct Expenditure
Matenals at site at the end

Direct expenditure accrued (at
the end)

Cash received 2.60,000

You are required :

(1) to prepare Contract Account showing profit to be credited,
Contractee’s Account; (iii) to prepare Work-in-Progress accor
show suitable entries in the balance sheet of the contract.
(A7« (i) 2z P st A @ 2t fan gu 391 @ran 4 e
FI T A0 F 2 (i) 2 - WP A I A R R e (iv
¥ wfafat frarft 1)

1,29,000 Establishment charges
1.09.600 Materials returned to stor
22,600 Value of work certified
4,800 Cost of work uncertified
2,800 Wages accrued at the end
400 Value of Plant at the end

Contract Price



. \f/s. Ranu Brothers disclosed the following position in reg
g hridﬂc Contract for the half year ended 30th June, 2009 -

ard 1o a River-

fad Tﬁm 3 30 5, 2009 1 WHIN B ATeh 3 -ar ik feaur :{a{]-'{:;, 2% 1 urafoga

erfafiaa feufa whe A

Rs.
purchases of matenals 1.68.000
plant issued 1.40.000
Labour charges 1.80.000
Aiscellancous Expenses 36.000

Rs.
Cash Received 5.04 000
Depreciation on plant to
the date of certification 7,000
Contract Price 12,00.,000

prepare the River-Bridge Contract Account for the half year ending 30th
June, 2009 after giving effect to the following adjustments :

(i) Provide for expenses incurred prior to 30th June, 2009 but after

certification included in above

materials Rs.

8,000 and Labour

Rs. 15,000. Miscellaneous expenses for the said work were charged on

the basis of labour charges.

(1) Overhead apportioned by head office to this contract Rs. 33,200.
(iii) The contractee’s account is credited with the work certified less 10%

30 3. 2009 FI FHH B AT} 3784 % fo Frrfefas wmisHt #1 o1 s 7o,

TE-I% 371 @A 491 HIs) :

(i) 3033, 2009 @ qd fag sl & ae R M =13 < 3w wei § afeifea

EH1 8,000 %, 44T #W 15,000 %. | fafgy o s el F v m =g w

HaE 2

(ii) 4T FTaio 20 79 3% 1 STE (e IUE™ 33,200 %, 3|
(iii) Zzman =1 e wonfora = 3 e 1 ¥ 10% e e R 2
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Prepare Abnormal gain account and Norma
following details in respect of process X.

St ‘Taa’ 8 grafa e faawon @ sm=r a=d
(i) Input 2,000 units at the cost of Rs. 40,000
(a1 2,000 3TEET 40,000 . FH BATd R)
(ii) Labour and Overhead cost incurred in Proce
(SfshaT § 5 3 ITNTT BTTd I 55 16,400 T.)
(iii)Normal wastage (9T &F) 10% of input
(iv)Scrap value per unit of wastage Rs. 12
(&1 <t 9fcT 318 SR Io 12 3.)
(v) Actual wastage (Ir&iideh &%) 120 units
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Avare =

A prociuct passes through two distinct processes A and B and then to fir
stock. The output of A process is passed to B process and that of B proc
finished stock. From the following information, you are required to p:
the process accounts and the finished stock account. Also prepare abn
wastage account and abnormal effectives account.

& 3G A Tl Sfshanati © ¢ aen of @ e R ok 99 fififs wis i s
wishaT 1 e it Skt 1 IR B ® aen off wE %1 3are Bty i
Frerfeefiam gErmett @ ot wikn @i qun fififq wie @ daw w3 ) o
&9 @1 9 W F=rd @it off B Hifdr |

Process A Proce

Materials used Rs. 12,000 €

Labour Rs. 14,000 8

Manufacturing expenses Rs. 4,415 4
Input in process A Units 10,000

@Re. 1 per unit

Output Units 9,400 8.

Wastage (percent of input) 5% ]
lue of Normal Wastage (Per 100 units) Rs. 8

O Opening or closing stock is held in process. Out of the finished s
V00 units are sold @ Rs. 10 per unit.

15631 3 1 oft wrfeves a1 arfm =i T w2 Rffa w s A 7,000 3
0% 3t 31 ol & A< et
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In a Procc;‘éi.h_g[ Engineering Factory, a product has to pass throy
distinct processes before it is ready for sale. Fl:om the information
below. work out selling price of the product if the management

have a mark up of 25% over its works cost.

gh three

appendeq

e SR Soffafin e A e A A T S & fe e e
?, S0 v ¥ e foreflt 3 A o) A R R I R 3o ok e
M2 T I HREHT Jed T 25% TG o1 =red| 8 | :

Process I
Input of raw-materials
@ Rs. 4.05 per kg Kg. 1,00,000
Normal Loss on input
in each process 5%
Transferred to next process (kg.) 90,000
Labour 14,000
Variable overheads 150%
(percent on labour cost)
Fixed overheads 250%

(percent on labour cost)
Stock held back at the process 4,000
Also prepare the process accounts.

e @ of e i |

Unit-5

45, (Standard costing and Marginal Costing)

Process 11

5%
80,000
17,500

120%

140%

4,000

Process 111

%

32,000
100%

200%

-



From the data given below, compute Materia

Variances :
3 B3 T gt @ gl ST, god, I9AnT a9 firs
Standard
Quantity | Unit Price -
Kg. Rs. Total 9
Rs. ]
Matenial A 4 1.00 4.00
Material B 2 2.00 4.00
Material C 2 4.00 8.00
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. The standard cost of a chemical mixture is as under :

47

o warEs s ) S ore i TR e

4 tonnes of material X at Rs. 22.50 per tonne.

6 tonnes of material Y at Rs. 30 per tonne.
Standard Yield is 90% of input.

oS It T TE A A 90% ©

Actual cost for a period is as under :

s 37afy F) Irafas ord T TER R :

4.5 tonnes of material X at Rs. 15 per tonne

5.5 tonnes of material Y at Rs. 34 per tonne
Actual yield is 9.1 tonnes.

FrafaF 39 9.1 T

Calculate : (701 Q)

(a) Material Cost Variance (¥ &FTd o)
(b) Material Price Variance (St 7¢¥ foreron);
(c) Material Usage Variane Caepi g T
(d) Material Mix Variance (@i i formo);
(e) Material Yield Variance (emaeft Ieared for=ron) |



For unit ot product A, the data are given below :
IAR AR THFR & fouais R AW & .
Standard Data :

Matenal : 5 kg. @ Rs. 40 per kg.
Labour : 40 hrs. @ Re. 1.00 per hour

Actual Data :

Actual production 100 units
Material : 490 kg. @ Rs. 42 each -
Labour : 3,960 hours @ Rs. 1.10 per hour

Calculate Material and Labour Variances

Mﬁkmfﬁa{ﬁﬁ_j@ﬁﬁql

2 T M- NON FA¥. LA
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St R | ‘\// L\, ‘fJ’U(,U,.

The P/V Ratio of a firm producing a standard pr
of safety 1s 40%. Compute the break-even point
are Rs. 50,00,000.

T FH, S FHTY IR hT I et 2, i o1
40% B IR ®H TR 50,00,000 %. H Frf) = 7
@™ T IS hifs |
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. The following information 1is obtained from
Limited :

. e fafiee & ferd @ Ffofad g am ©

Sales (1,00,000 units)
Variable Cost

Fixed Cost
(a) Find P/V ratio, Break-even Point and margin

BTY—HTET AT, TH- =83 fog dem guan ¥4 &
(b) Calculate the effect of : ( o UV
(i) 20% increase in selling price (s g # -
(ii) 5% decrease in sales volume (fsht AT #
(iii) 10% decrease in Fixed Cost (To=fl STd *
(iv) 10% decrease in Variable Cost (TRed=ziies

’Anman [ DI/IT7 T s® __  dND/ TTTTT ™ ~ A
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- Modem company has maximum capacity of 4,40,000 units
Normal capacity is regarded as 3,60,000 units in a ye;
manufacturing cost (including material and labour) is Rs. 2.
Fixed factory overhead is Rs. 1,08,000 per annum. Selling and
cost of a fixed nature is Rs. 50,400 per annum whereas variab]
per unit. Sale price is Rs. 4 per unit. Calculate :

(i) P/V Ratio, Break-even point and Margin of Safety;

(i) Number of units to be sold to earn a profit of Rs. 12,000 in a yea

(iii) Sales value needed to earn a profit of 10% on sales;

(iv) Selling price per unit to bring down Break-ever
1.20,000 units of the product.

Tied Frot i TrwaT Ieared &waT 4,40,000 AT WHEE 2 @7

3,60,000 ST Sidad wHt ST gt ¥ | sRadsie Rahfi =59 (;

afed) 2.20 . 3 318 aon TRt wrEmT Bt s 1,08,000%. ¥

awn o & fRR Wi & =19 50,400 . wREs Fon TRadasiio =53 6

R foFa i 4 %, i 5ié 2 | Frafosfaa 1 uerem Hifdye -

(i) @r1-wmn rgaTd, aH- T forg qen g i,

(ii) TR H 12,000 7. F1 1 ARG F0 2 Riea 1 o1 a1 35741

(i) o562 T 10% @1 1fvfa 3 ¥ g i ofi;

(iv) 1,20,000 szt W wm-f=as fomg Suosy &0 3 s e |



